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QPTION ~-E
(International Business)
Paper COM—RE—6056
1. Answer any ten questions. from the
following : - 1x10=10

weTs fimt e o ﬁm P17 TEI 2
(@) What is globalization ?

e o e
(8 Define quota. !
mﬁaw&wﬁm. g

C

M
erition one of the prime ObJCCthCS of
international business. -

| I ?@ﬂwﬂwm em%cwmﬂaan
(d) Wr1te the full form of OPEC.

OPEC-3 5™} %05t fra |-

(e) Define balance of payments (BoP) e

."’ﬁt"“*f%?@w\wﬁm

() Write the full form of ‘ASEAN g
‘ASEAN"-F 3751 I8! |
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(9)

g

()

0

®

)

What is foreign exchange rate ?

WW%W&?

In which year product life cycle |
theory was 1ntroduced ?

@ 578 product life cycle theory‘%“@?ﬂ

=R e

What is a special economic zone ?

BT e e o

What is meant by letter of credit ?
o ow Cerrens oy 2

Balance of payments - includes only
visible 1tems of export’ and 1mport

(State whether the statement
is correct or 1ncorrect)

mﬁw W‘e‘? oM a@iﬁa T .
m&‘ﬂﬂ{imﬁml '
. (Sfemiva mwaml)'

Ricardian theory assumes that labour
is the only factor of product10n .
(The statement is True/False )

RfAR TR RIS AW T TeA
awa%onmn .
(Wﬁpﬁ/@%’)
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2.

m)

)

().

.Export duty is a tariff tool of

international trade.:
(The statement is True/ False )

IR W:Wwa@aarﬁ@m 4Ry & TGE|

. (Sf&hr 9%/ 95%)

Re_serve Bank of India is the main
participant of Indian foreign exchange

~ market.

(The statement is True/ False )

- OREH @R bl TGRS ﬁws R T
SRAATERR |
(@ﬁfcﬁe‘a‘/wrﬁ)'

Exim Bank. was established in 1992.
(The statement is True/False )

Exim @W YT Fﬂ“i{?ﬂ 90 e |

(D wm/oem) |

Answer the followmg questions :

(any five)

- 2x5=10

WMWWW

@

Mention two factors which prompt
1ntemat10nal business.

Wwﬁw%ﬁﬁﬁﬁmzﬁr%wm
qu .
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o

(c)

(@

(e)

(9)

)

Outline two criticisms of the fheery of |

national competitive advantage'

National competltlve advantage s 7o

'WWWu

Mention -two objectives of World Bank.

Rt a1 oy vt

What are the two types of international -

‘business environment ?

oA e AR g7 e B R 2

What is an open account ?

Open account 3 &% &l |

What do you mean by reglona.l

business ? .

.Wﬂaﬁﬁsﬁlﬁw T 2

What is the full form of SCO ? |
=0 Ayl ot o

‘Write the full form of BRICS.

BRICS-3 =2} Foic! Bl
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3.

M)

Answer the followmg questions : (any'
four) 5x4=20
(@ ‘Explam the basic differences between
- international business and domestlc
business.
TRERIF ey o Tt AT AEo 4/
o ANFPTR o
Explain the limitations of the
- Ricardian’ theory of international
trade. _
SIS A aﬁm ﬁasﬁ%znﬂ' TR
ARSI B

(0

]

DR

Discuss the functions of UNCTAD.

- UNCTAD-T IR SNeativat 1|
(d)

How can the barriers to international
business be overcome ? Explain.

- S AR TR @ sies FRE

?nﬁ?WW|

Wha}t are the merits of international
business for developing countries ?

Wmmw@nmﬂw
AR & & e :

. 4(Sem-6/CBCS) RE 5/6/7/8/G 6

4.

(@)
_‘W@mﬁwwwﬁw

(b)

(c)

4 (Sem-6/CBCS) RE 5/6/7/8/G 7

" Outline v_arious‘types of tariff.

Tariff-3 Rfon arer R

{9) 'Mexition the principles 6f WTO

“(h) | Write a short note on NAFTA,
NAFTA-3 Ra «ff o (ot forat|

Answer anj fbur questions :  10x4=40
Discﬁss; various modes of entry into

international business.

SUGUSIESIE

‘Critically discuss the product life cycle'

theory of international trade.

W@@'ﬂ freza product life cycle E‘Q‘CBT
W SIS I |

What is non-tariff barriers to trade
(NTB) ? Discuss its various forms.

@l 2 R Rfen avienz e i1

Contd. -




(@)

L))

Discuss various objectives and

- functions of IMF. -

eI at kT Rifen Somy o o

(e)

FIEE SOl =1 |

What is foreign investment ? Discuss
its various types in Indian perspective.

U RiN@ g & qen ¢ oRes

R WO R R[ioT SRR

(9)

)

* promo

" I.__;_

~ international bysg;

G 1 |

Discuss the role of IT (fnfofmation

- Technology) in international business.

NICES A IR crre vy IR
it TGN 37 |
Discuss  the major  types of .
ness structure.

;W'wﬂmammmwmm
: | ' :

Elabo;;te various foreign trade
On measyreg in India.

4 (Sem-6/CBCS) RE 5/6/7/8/G 8

0

0)
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Discuss various sources of
international trade finance::

SeiP e Riew R Tepm

Discuss the objectives and functions of

‘World Bank.

R (R Tl % IR SN <o |

Contd.



OPTION - F

( Office Management and Secretarial
Practice)

. Paper : COM- RE 6066

1. Answer as directed : (any ten)

R 1x10=10 -
Ao Ses fat = (et wed)
(f - Write the full form of ATM.
. ATMS sl it v -

(i) What is the full form of E. & O.E. ?
E. & O.E. I 7=l oot &2 -
(i) Franking machine is used
Franking machine IRQ< ¥ o7
- (@) for sending mail
. O oifdear A
(b) for stampihg outward rﬁa;il
T 66 weiiee A
‘(0) f_of printing address
R Bk 3w
(d) _None of t,he‘ above
. 8T oIS Ty |
(Choose the correct answer)

(w5 Seacby f7731)
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(w) Collecting and rece1v1ng information is-

)

a function of an ofﬁce

wws&wmza@m;_

(a) primary function
e I

(b) - secondary functmn
<kt |
() administrative function
epiI 1
(d) All of the above
@i TBRCEY o |
(Choose the correct answer)

(@Q@?ﬂzﬁrﬁ?ﬁ).

Strategic office plan'ning‘ is done at

IR Ferelef AAResm s =

(@) top level (M T7o)

(b) middle level (4% TTS)
(c) lower level (RN &%®) .
(d) All levels (FReTl )

(Choose the correct answer)

(% Seschy 7%*/7)
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(vi) An ideal filing system should not be:

<ot Wﬁ*fﬂ@ R s Ry @ e 8
(a) 81mple (ﬂ?{‘\ﬁ)

(b) flexible (TTRY

(c) rigid ()

(d) economical (Rrear)

(Choose the correct answer)

(@ﬁi@?ﬂﬁ’ﬁ) |

(vii) _Indexihg is used for :

THIgET T I A 3

(@) filing a record

ke wf ATwR MR

(b) . location of file

(c) ’ safety of reCord
ﬁﬂ“ R R AR

(d) All of the above
87T HBIRCRRD

(Choose the correct answer)

( @Fa?,mz?l feran)
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@ (viii) Vertical filing system is cﬁeap' as

(ix)

)

(xi)

compared to flat filing system.
(Write True or False)

Wﬂ@ﬂ@ﬁwwm oot AR
e ITLOE I R .
o L (T @ ST R

When filing is done by different

_departments, it is called decentralised

filing system.  (Write True or False)

prfera <o e et mﬁmaﬁﬂqqa\wct i
3, (OFo oI RS AR HeTw el Rt
| | (0% 7 oF &)

Indexing saves time and labour in
locating files. (Write True or False)

ﬁmﬂaﬁﬂa%zﬁﬁw?ﬁwﬁ%
13RES OIS T i W IR IR
(% ( 8% &F7)

The ’purpdse of forms is to collect
information. -(Write True or False)

ool B (27RO TRT |
(5% @ qoF )

4 (Sem-6/CBCS| RE5/6/7/8/G 13 Contd.
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(i) Stationary should always be purcha,sed‘

,1n large quantity for an office.

: (Write True or False) :
Qﬁwwmﬁmﬂm@wﬁmﬂ@ |

T IR S| (@5(77@@557?/7)

(xzu) Fax Works through telephone lines.

(Wnte True or False)
Fax | cﬁi%wta S TRACS A A |

- (BT @ 9T )

. eiv) In India telegfams can be sent only in
-English. ' (Write True or False) .

AR (9% @ e R

frw) Write the full form of VPP,

VPPI W‘f?i‘»;m o

Answer the followmg (any five) 2><5—-10

wor facare B o ¢ (ﬁmm%ﬁr)

(i) What is ﬁhng?
R T o

(i) What is email ?
iz e

(i) What is audit?

ot R o2

(iv) Write about passbook.

oA R For

(v) What is crossed cheque? |
@ifEe wiort /e |

(vi) What is indexing?
~prge Re

(vii) What 'is meant by office form ?
e deig e e

(viii) What is office budget? ’

Answer any four of the follow’ing :

oo T o[ ifanrT Bee frt o

() Explain the duties of an office manager.
e GBI ~ARGETEETR TR IR0 I |

(u) Explain the importance of an office.
Frffer BT WY Pt 71|

(iii) Brleﬂy explain the needs of. 1ndex1ng in
a modern office.

aﬁm@mﬁﬁw«mﬁm .

5x4=20

e I A |
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(iv)

Briefly explain the importance of office
automation. -

. ?ﬂ%ﬁmwamama oFY ST T 1

(v)

'WW%WWWW_

Vi)

Explain the factors determlnmg office
mechanisation.

TAMINRITT R ot <1 |

Briefly explain the procedure for
disposal of records and assets of an

o office.

i

mmw@wm@qqﬁw@w
PRI TF TR0t =W

Explain the qualifications for

appointment of a personal secretary

ﬁwwwﬂﬁ«ﬁmmm—m,7

WWW|

(viii) Explain the essential. qualiﬁca‘ltions of
- an office manager.-

WWWWWW
>
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‘ 9 Answer ‘the followmg : (any four) 10x4=40

Wﬁtm«@mﬁm (ﬁmwwﬁ?/f

@

(i)

(i)

Dlscuss various functions of an office.
10

m‘v‘lWﬁ%ﬂWWWI

Explain the importance of filing in an
office. State the essential of a good filing

- system. - . 5+5=10

aﬁaﬂzﬁm@aﬁwmwwmﬁ
ww@wwm@wﬂma@

o L

Explam the 1mportance of mail for an

office. Briefly explain the advantages of

centralisation of mail handling. .
5+5=10

'@ﬁW«'WW@WWWMﬁ"'

(i)

Discuss different methods of ﬁling |

'} w@w@ﬁ@m&@a@@mmu

Explam the factors affecting in form

designing. Also state the principles. of

designing of forms for an office.
5+5-—10

4 (Sem-6/CBCS| RE5/6/7/8/G 17 -~ Contd




| o g‘{) ' @ Who is an office manager'*‘ Discuss
1 L T I ol SIS el TN (RS 2ok | L about the qualities of an office manager.
| ) ’ : N 4 ‘ :
L COIER SAMPTR i <51 | SIS e PR . |
\4‘ . ‘ . o
g aﬂmmﬁ@w%aﬁ“wﬁ—m : ) WWW?MWW
. o an - | - @WWWI

L (vi) Discuss the purchase procedure of
i statlonanes for an ofﬁce :

| ' efﬁmrc“wwmmwn : |

2 (vu) Discuss about different kinds of o
: ‘machines used in a modern office. T

Bt N TS e R N
TR R wicetisat w4 : o

(viu) Explain the

procedure generally
! followed in an

audit for an office.

‘ o mmwﬁﬁwmmmwm
| ol
|

(ix) Discuss the dutles and responsibilities
of a personal Secretary, 5+5=10

? N WWWWWWW
B |

' . - td.
" - | 4 (Sem~6/CBCS) RE 5/6/7/8/G 19 . Cen
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OPTION-G
( Fundamentals of Investment)
| Paper : COM-RE-6076

1. Choose the most approprlate answers for
.the following questlons (any ten)
1x10=10

TWWEW%@W@W@
_(ﬁmwrwﬁ‘r)

(a) The Indian secur1t1es market is
‘regulated by

RS iR TR @I REE! T 2

() - RBI
 feN @w
(i) SEBI
=R
(i) Ministry of Finance
| ﬁ@ﬂtzw |
() IFCI |
w2, 9%, f5. 9iz.

4 (Sem-6/CBCS) RE 5/6;7/8/G 20

(b) The sens1t1v1ty index of BSE is

©

(@)

BSE T AP oI I
() NIFTY
(i)’ BOLT

‘(i) SENSEX =
(i) MCX iCOMDEX

Which of the followmg is not a credlt
rating agency ?

TS ﬁ?ﬂﬁﬁ? I (.EF@I" @FG\ 2o |
T 2

() SHCIL

(i) CRISIL

(ii) CARE

| (iv) ICRA

Which' of - the following partles can
issue bond ?

W%@ﬁ@mﬂﬁwﬁ%w

A 2

() Government

PARRS

4 (Sem-6/CBCS)RE5/6/7/8/G21 - Contd.




.. (i) Banks
SR

-'('iii) -Corpofaté' entities .

. (iv) All of the above ,
89T TS SBREN AF

(e) Who is the propounder of dividend

capitalisation model ?
| Ao EHNIR OF TER (P 7
(i) M‘yron'J . Gordon
(i) David Ricardo
(iii) Ad_am Smith
e e

(iv) John Stuart Mill
oW A6 e

4 (Sem~-6/CBCS) RE 5/6/7/8/G 22

-

9

. Unit Trust of Ind1a was established in

the year -

iﬁ?ﬁ%%ﬁwﬁ%ﬂt
e |

Wv.-zmw

@) 1955

@ 1964

- (@) 1982

(iy) 1991 -

Wthh of the following is an example of
financial denvat1ve ?

wmmﬁ@zm

o 7

(i) .Share
§R“f

. (i) Debenture

YAg

(iiij). Forward contract

(i) GDR

RCACACE

4 (Sem—6/CBCS| RE5/6/7/8/G 23~  Contd.




(h) Who is responsible for investors
protection . in - Indian securities
market ?

- SR ICREL zﬂ%—% TS ﬁﬁmw%w
| | R MEY PR GITe B T4 (TR ?
.. ) RBI -

| | : RS &S

| @) SEBI

 (ifi) Stock exchanges

3¢ Rffmem

(iv) Both SEBI and Stock exchanges
. @R R ﬁﬁw W

() Gold is a financial asset.
- S o «ﬂﬁ&r & A~m |

: . G) Bond is a risk-free secunty
(The statement is True/ False)

3G Gy ﬁﬂww‘mﬁaa Afeefs |
| - (SfEh o | wom)

4 (Sem-6/CBCS) RE 5/6/7/8/G 24

0 XY

(The statement is True /False)'

. : : @%@1%/@@?‘1)‘

(k) DepOS1tor1es are partlc1pants of '
secur1t1es market. '

- (The statement is True/False)

A RBR ﬁﬁﬁﬂﬁ{ieﬂ%@%w
W\ﬁml T :
.(@7%»757 % /oF)

() . NAV is a funds per share market value.
(The statement is True /False) |

mﬂir‘mﬁl%c%rwmwwﬁﬁfa NAV |
(@%‘(E‘r e‘m‘/wm

(m) The full form of ICRA is
~~ICRA 3 wcfamﬁt‘a |

(i), Investment Informatlon and
' Credlt Rating Agency

(i) Investment and Credit Ratmg
' Agency :

- (it} Information and Credit Rating
Agency -

(it)) Indiarl_ ‘Credit Reting Agency )

. 4(Sem-6/CBCS) RE 5/6/7/8/G 25  Contd.




(n) In which year SEBI was established @
SEBI (@I 5% Fiq 31 (2= ?
() 1988
(i) 1990
(i) 1992
(i) 1994

(o) Portfoho risk 1ncludes the risk of loss
: of capital

(The statement is true / false)

» Portfoho IR o C‘&?lﬁ SIS
AR #W |

(@ﬁm‘r %/ TEF)

lee brief answers to the following

questions : (any five) 2x5=.10 .

TS il enPRR B e fret 3 (R sl
(@) Write the meaning of investment.

ﬁﬁmmmfﬁ‘am .

(b) State any two dlfferen
NIFTY and SENSEX. el

NIFTY - SENSEX ¥ ‘m@r Wl R
g&/vﬂﬂﬁﬁWWu
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(c) State any two risk assomated with
" bonds.
L tﬂr @ﬂ%— ﬁm zbrﬁﬁw Wt\zﬁ
T =i o
(d) What is credit rating ?
@5 @fw ey
(e) State any two objectivés of technical
- analysis. , ‘
Technical ana1y81s I ﬁz«wm 5‘5)’%‘%"{!
“ﬁscm =
| (f) - State any two advantages'of
- denvatlve ] |
. Rearrebes ﬁzwz-vr zﬁmﬁ R %‘cm Eaif |
(g) State any two features of mutual fund.
cﬁw«iﬁﬂ Riczcar 7or cafiey e =
: (h) Write the full forms of NSDL and
CRISIL.
NSDL % CRISIL 3 7= @9 Bt
4 (Sem~-6/CBCS) RE 5/6/7/8/G 27 . Contd. [




3. Answer the following questions in abot.@

200 words each : (any fdur) 5x4=20

- Wﬁmﬁﬁﬁ{@wo Wmﬁ@%@ﬁ‘%ﬁ)
(Rietean oifb1)

- (a) Expla.m the structure of Indian'
securities market.

wﬁzx ﬁF—F‘Wﬁl‘bﬁa@?WI

| (b) Write a short note on different sources
' of financial information

ifen «%ﬁ‘%\omﬁ%@ﬂm evﬁ— Giog

Cﬁmﬁﬁ’n‘l

(o) 'Differentiate . between bond and
' debenture. |

@ W W TS I AR T

ESINR

(d) Write  the meaning of financial

derivative - and explain its d1fferent'

-forms.

ﬁ@ﬂ@mwﬁmmmﬁh
WWWI

4 (Sem-6/CBCS) RE 5/6/7/8/G 28

(e)

Explain briéﬂy about different types of
mutual fund.

3 ﬁﬁaw@w?ﬁm@ﬁmmw

(9)

")

WI

What is meant by ms1der trading ?

Examine the legal aspects of 1ns1der .
trading.

Ins1der tradmg-’q' ‘ﬂﬁf ol | Insider
trading T 43t WS eI e

- {0

Discuss different steps involved.in
investment decision process.

ﬁﬁmmﬁmmaﬁmmwmﬁm

W‘Rﬁ‘ﬁTWI .

What do you mean by fundamental
ana1y31s ? What are its ObJeCf_lveS ?

Fundamental analysis IFE & 3@ 2
F2T SORIRIT [ 10

4 (Sem—6/CBCS) RE 5/6/7/8/G 29 Contd.
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4. Answer any four questlons from the
following : 10x4=40

. ooTe fE iR o ! Rt s vet B s
: (a) Elaborately  discuss  about  the

advantages and disadvantages of |

. mutual funds
. dﬂ%<ﬂ%ﬁ*mﬁﬂrvmaawﬁﬁ%ma§§'mﬁﬁi
'VWWI Lo

(b) : Explaln bneﬂy about different types of
investments stating their. advantages
- and disadvantages.

TR I SPRATE S TR R oo

ﬁﬁmﬁ‘wmwmmn

(c) Write a detailed note on different

participants in the Indian secuntles
market.

oRET TR o Rivw st
T R SR B Bt g
(d) Do you think that credit rating is an

important service for the investores ?
Justlfy your answer,

| AT ORI 31 9 Res w1 2 comim
Eﬁﬁﬁ’ﬂﬂﬁsgﬁ?EWmmmmw
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®

~

(e) Discuss the role played by SEBI in the

| )]

protection of interest of the investors
in Indian secuntles market.

. oigen dfogfes Wﬁﬁ@ﬂaﬁw

el e FIRAeET SEBINMWW
S

What are the basic features of
financial derivatives ? Also state briefly
about the major participants in

financial derivative market. . 5+5=10 - -

ﬁﬁaﬂﬁhﬁzsﬁ—aqFf&ﬁﬁ%@ﬂaﬁ$ﬁ$?ﬁﬁﬁﬂ
Raizroe o SHATRAI T ﬁkmﬂ

A2 GRUUEE

What is efficient market hypothesis ?
Write on different forms of efficient
market hypothesis ? Explain.
o | 2+8<10 -

‘Efficient market hypothesis I 4RI

Ry 3911 SR o efficient market

| hypothesig TN 3 3= |

4 (Sem-6/CBCS) RE 5/6/7/8/G 31 | Contd. -




(h)

)

)
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NN
Examine the suitability of bond as an "
‘instrument of securities market. Also
state briefly .about different types of

bond 5+5—10

dfopfs Fme wﬂ"ﬂ ﬁsm Jaq ?IQHRIT‘)‘B‘T

*1Trew 71 | RfSw eoiea 909 Rac 3t Bt

Discuss in detail about different tools ,

used in technical analysis. -

" Technical analysis © W Rfeq aae

.Wﬁﬂw?‘ﬁtwl

What is stock exchange ? Discuss the

functions of stock exchanges.

V%ﬁﬁwm%9%ﬁﬁwmﬁm

IR A 41 |

1.

OPTION -H

Paper : COM—RE-6086

( Consumer Affairs and Customer Care)

Answer the followmg questlons as directed:

(any ten)

1x10=10

mﬁmmﬁzﬁwﬁwm (Reret

RBY)
(@ ————

()

4 (Sem-6/CBCS) RE 5/6/7/8/G 33

are rates charged by producer
or dlstnbutors to retailer.

(Fill up the gap)
mmmomatﬁwmﬁmm
mﬂﬁwmmﬁml(ﬁﬁww)

_ is the highest price that can be
charged for a product. (Fill up the gap) .

TR A T TS < T 8TS
e FR AR | (4T 912 3 )

In | rnarket price of goods and
services is fully ¢ controlled by one seller.

(Fill up the gap)
e, W AR GRR Tl |
a@aﬁmﬁﬁﬂmml (T 318 999 )
Contd.




(@

(e

(9)

)

| Q

is the effective and ecoriomical

system for quick redressal of the public
grievances. (Fill up the gap)
TP 68 M@ e Regieia Reife
TRIRA___ | (W AT )

The term describes the handlihg

- of customers, complain, within a’
(Fill up the gap) .

company.

’

A WA 1T Foow vt Fosifs <t
IE____ I (e 312 7w )

- In case of a consumer being a minor,

his parent or legal guardian can make
the complain.
G ARITS AT CFIS (967 17 SO A
WA WSO 6T Mifs 3R oMieT |

| | (%%/ aq5%)
In case of death of a consumer, his legal

“ heir can make the complain. '

(True/ False)

ST T IR AT (9% /90%)

Afine up to Rs. two laks may be imposed
for selling or importing products
containing adulterant and cayse injury
to a peron. (True/ False)

4 (Sem-6/CBCS) RE 5/6/7/8/G 34

" . (True/False)

| Wwﬁﬁi@mﬁ@ﬁaw alESE R

(%)

i o A g o iR PR

0

= - (cw/wER)

Government declared a new d.raft knpwn
as advertising code which %l\;es
' i inst false
customer protection .agams a,
advertisement. . (True/False)

- (v%/5%%)

' A citizén who desire to seek some
* information from -a public authority is

i icati d fee
required to send an application an |
ofc%is. 15. ’ (True/False)

" qum AR g O ! 9T R R
iReE (P6T SR 31918 ¢ Bl g o1

(k)

(l);

: (o%/95%)

The headquarters of the Central

Infbrmation Commission is situated at
Delhi. o ' (True/False)

e 2 SCaleTe 31 e e srige |

' (vm/as%)
How many members,are'there in the . -

Board of Governors of ASCI .? =
(Choose the correct answer)

ASCIW%@EWWWW ?
(i Tl R Bea)

@ 1509
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m)

| (i) 16 (dv)

@

(i) 17 (5a)
(iv) 18 (>v)
Ombudsman scheme for d1g1tal
transaction was introduced on
(Choose the correct answer)

| | mmwwwmﬁwwwl

)

(wﬂv@@a@wﬁ@ﬁwﬂ
() 2017 (X0349) |

(i) 2018 (205%).

(i) 2019 (053)

(iv) 2020 (%030) |

The Consumer Protectlon Act, 1986

‘covers

(Choose the correct answer)
QAT T SR Sbv-q H{R 777 |
(5% Tewrhr AR Bferaan)

(i) private sector
Jfeare ey
(i) public sector
- 9iSRA A0

(ifi) cooperative or any person
TR A Rl gyfes
(iv) All of the abyee

| 8T WG -
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(o)

Write the full form of FSSAI
FSSAI T 575{ef Fiofg51 37t

2. Briefly answer the following : (any five)

2x5=10

wwmwm (ﬁmzar%ﬁr)

(@
)

(c)

il

(e)

(9)

- What is fair price ?

TS e e [

What is labelling ? |

(ETCIE AT M 2 -

What is paci{aging ? |

CBIEATTITR snza 534

What is t_he ineaning of defects in goods ?
Tye &b 4 W 3@ e

Whocari file a complaint ?

TR (I AR ?ﬁﬁa AR 2

State the meanlng of local taxes.

vﬁmw‘mfﬁﬁm

Write the concept of consumer. '

SRR LIRACH! fort )
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